o
o
al

1/Ncdot dN/dM [GeV]
o
AN

0.03

0.02

0.01

Ratio to ATLAS

0.5

7000 GeV pp Jets
_I T I T I T | I T I T I T I T | T I I T I T I_
- Jet mass (atlasZOlZ-ptSOO-jsakOG) B
[ m  ATLAS |
| --&3-- Herwig 7.0.0 default _
o ¢ Sherpa 1.3.0 default —
| oy _
= |
: O ‘ :

m
— IE\ —
— . ]
i B e :
— . :g.::;';';';';-;- ........... —
T T VS S £ BN
- s 4 -
: - T LA :
Sum ]
___________ E]
| ’ R B----"- _
. l . . l .
50 100

Jet mass [GeV]

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


